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ECONOMICS 

Paper First 

(Economics of Development and Planning) 

Time : Three Hours 

Maximum Marks : 80 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u 

djuk vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- Hkkjrh; vkfFkZd fu;kstu ds eq[; mís’;ksa dks le>kb,A 

Explain the main objectives of Indian economic planning. 

vFkok 

(Or) 

ckjgoha iapo”khZ; ;kstuk ij ,d ys[k fyf[k,A 

Write an essay on the Twelfth Five Year Plan. 
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bdkbZ&2 

(UNIT—2) 

2- ‘kqEihVj ds fodkl ekWMy dh vkykspukRed O;k[;k dhft,A 

Critically explain the Schumpeter’s growth model. 

vFkok 

(Or) 

jksLVkso dh vkfFkZd fodkl voLFkkvksa dh vkykspukRed O;k[;k 

dhft,A 

Critically explain the Rostow’s stages of economics 

growth. 

bdkbZ&3 

(UNIT—3) 

3- vkFkZj yqbZl ds vlhfer Je dh iwfrZ fl)kUr dh O;k[;k 

dhft,A 

Explain the Arthur Lewis’ theory of unlimited supply of 

labour. 

vFkok 

(Or) 

izcy iz;kl ds fl)kUr dh vkykspukRed O;k[;k dhft,A 

Critically explain the Big Push Theory. 

bdkbZ&4 

(UNIT—4) 

4- larqfyr ,oa vlarqfyr vkfFkZd fodkl ls vki D;k le>rs gSa \ 

larqfyr fodkl ds vPNs izHkkoksa dks crkb,A 

What do you understand by balanced and unbalanced 

economic growth ? Explain good effects of balanced 

growth. 
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vFkok 

(Or) 

feMZy ds ekWMy dk o.kZu dhft,A 

Describe the Myrdal’s model. 

bdkbZ&5 

(UNIT—5) 

5- ,d fodkl’khy vFkZO;oLFkk esa rduhdh pquko dh leL;k dk 

ijh{kk dhft,A 

Examine the problems of the choice of technique in a 

developing country. 

vFkok 

(Or) 

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

¼v½ lkekftd lhekar mRikndrk ekin.M 

¼c½ iqufoZfu;ksx ekin.M 

Write short notes on the following : 

(a) Social Marginal Productivity Criterion 

(b) Reinvestment Criterion 
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